43X86 BRACKET
ANGOLARE 43X86
ESCUADRA 43X86
EQUERRE 43X86
ALUWINKEL 43X86

9 &
U || 4
U 83| A4
L1 |”| O [ 4

86X86 BRACKET
ANGOLARE 86X86
ESCUADRA 86X86
EQUERRE 86X86
ALUWINKEL 86X86

94

T
0
0

o I w—

87

269

86

k

MOUNTING STRUCTURES FOR SOLAR PANELS ‘ IQ Alusic

Cod Note g
Assembly with M8x20 screws, not included -
Montaggio con viti M8x20 non incluse - Mon-
084.305.033 taje con tornillos M8x20, no incluidos - Mon- 160

tfage avec vis M8x20 non fournies - Montage
mit Schrauben M8x20 (nicht im Lieferumfang
enthalten)

Sandblasted aluminium

Alluminio sabbiato
Aluminio arenado
Aluminium sablé

Sandgestrahltes Aluminium

Cod

Cap - Tappo - Tapdn - Embout - Abdeckkappe

L
==}
@

| 885

Cod Mat

Col

084.206.005 PA

34

Note

084.305.034

Assembly with M8x20 screws, not included -
Montaggio con viti M8x20 non incluse - Mon-
taje con tornillos M8x20, no incluidos - Mon-
tage avec vis M8x20 non fournies - Montage
mit Schrauben M8x20 (nicht im Lieferumfang
enthalten)

Sandblasted aluminium

Alluminio sabbiato
Aluminio arenado
Aluminium sablé

Sandgestrahltes Aluminium

350

Cap - Tappo - Tapon - Embout - Abdeckkappe
n
=S
s
Cod Mat g | Col
084.206.006 PA 30 [ |




